22. Investment Appraisal – Net Present Value
1. Delete as necessary:
One advantage/drawback of the payback period and ARR/APR methods of investment appraisal is that they do not consider the effect of time on the value of money. Due to interest rates, any future returns on an investment will not have the same value as they do today.  If interest rates are 3% then £50,000 in a bank would grow to £57,964 over five years.  This means that the value of £50,000 cash (not invested in any way) will have effectively fallen by 3% a year over those five years. Discounted/Forecasted Cash Flow reduces future cash inflows according to predicted interest rates for the years ahead – giving a present value to the return.

2. Identify the error contained in each of the statements below:

2.1 On an investment of £100,000, the (non-discounted) return over three years is £120,000. It should go ahead.
______________________________________________________________________________________

2.2 A project with a positive discounted cashflow is always viable.

______________________________________________________________________________________

2.3 NPV calculations take into account the effects of inflation.

______________________________________________________________________________________

3. Calculations:
Website Makeover: FloorFillers, an online music download site, is deciding between a complete relaunch or a simpler redesign of its site. The following investment information has been drawn up:

	Option
	Relaunch
	Redesign
	Discount

Factor

	Initial Cost
	(£400,000)
	(£400,000)
	

	Projected Net cash flows:
	
	
	

	Year One
	£200,000
	£130,000
	0.93

	Year Two
	£175,000
	£120,000
	0.86

	Year Three
	£125,000
	£110,000
	0.79

	Year Four
	£100,000
	£70,000
	0.74


3.1 Calculate the net present value of each option:
Relaunch - _______________________________________

Redesign - _______________________________________
3.2. Based on your figures, should FloorFillers relaunch or redesign? 

______________________________________________________________________________________

3.3 Suggest two other factors FloorFillers may take into account when making the decision.

______________________________________________________________________________________

______________________________________________________________________________________

4. Data Response:
	Investment
	Project X
	Project Y

	Payback
	6 Years
	11.5 Years

	ARR
	17%
	19%

	NPV
	+£94,000
	+£84,400


4.1 On the basis of the data, which project should be chosen? Justify your answer:

                             ________________________________

_______________________________________________

_______________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

22. ANSWERS: Investment Appraisal – Net Present Value
1. drawback … ARR … Discounted 
2.1 Discounted cashflow has not been calculated, therefore it may not be viable. The net present value of the investment (after discounting its cashflow) may be negative.

2.2 Not necessarily; total discounted cashflow (revenue) may be positive but lower than the cost of investment (ie the Net Present Value must be calculated).

2.3 They take into account interest rates, not inflation.
	Option
	Relaunch
	Redesign

	
	
	

	DCF
	
	

	Year One
	£186,000
	£120,900

	Year Two
	£150,500
	£103,200

	Year Three
	£98,750
	£86,900

	Year Four
	£74,000
	£51,800

	Total Discounted Income
	£509,250
	£362,800

	Initial Cost
	(£400,000)
	(£400,000)

	NET PRESENT VALUE
	£109,250
	(£37,200)


3.1 
Relaunch – 
£109,250
Redesign - 
(£37,200)
3.2 Relaunch
3.3 Other possible factors:

Calculation of other investment appraisal methods
Returns beyond the 4 years

The accuracy of the forecasts (especially in the dynamic music download marketplace)

Corporate objectives

Competitors’ actions 

	Investment
	Project X
	Project Y

	Payback
	6 Years
	11.5 Years

	ARR
	17.7%
	19%

	NPV
	+£94,000
	+£84,400


4.1 Project X; shorter payback and higher NPV. Whilst the ARR is lower it is not significant enough given the much shorter payback and higher NPV.
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